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Questions

Point out the FALSE statement about respiration.

In human and other higher animals, the exchange of gases is carried out by:

Amount of nitrogen in expired air is:

Amount of carbon dioxide in inspired air is:

Amount of oxygen in expired air is:

During exercise or other hard physical works the breathing rate may increase up to.

The normal breathing rate in buman being is:

Which of the following is called voice box?

How many lobs are present in right lung?

How many pairs of ribs in humans?

C-Shaped cartilaginous rings are present in the wall of.

The length of trachea is:

Answers Choice

A. Gases can easily pass through
the walls of the alveoli

B. Gas exchange in lungs is very
efficient because lungs provide large
surface area

C. In emphysema, the walls of alveoli
break and there is more surface
area.

D. Dust particles can damage the
lung by irritating the inner alveoli
surface.
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30-40 times per minute
None of these

Trachea
Larynx
Bronchi
Alveoli
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